Around the World —

Equations of Lines

1. Write the general formula for
each of the following forms of a
line:

A. General Form

B. Slope-Intercept Form

C. Point-Slope Form

2. Write the slope-intercept form
of the line that passes through

(O, 4)1 (_1’ _1)

3. Write the slope-intercept form

of theline _10x — y = 5

4. Write the equation in
y-intercept form

y+4=-7(x-1)

5. Graph 6
=—X-2
y 5

6. Write the equation of the line

that h
arhas mmez—%amiez4)

7. Write the standard form of the

8. Write the slope-intercept form

equation of the line 7 . of the line that passes through
=——X+
y 5 (_31 2)1 (01 _1)
9. Write that slope-intercept 10. Graph
form of the line that passes OX + y= S|
through (2, 4) and is
perpendicular to 2
y=——=X-5
7
11. Write the standard form of 12. Graph
the equation of the line that has —y=X+ 2
3 :
slope:—g and y—int: 5
13. Graph 14. Graph

2X+Yy=5




15. Write the standard form of
the equation of the line that has

slope=9 and y—int: 4

16. Write the equation of the line
that passes through (-2, 4) and is

parallel to y=—gX+3

17. Write an equation for a line
that has zero slope. Sketch the
graph.

18. Write an equation for a line
that has an undefined slope.
Sketch the graph.

19. Given the standard form of
the equation, write the equation
in slope-intercept form. Identify
the slope and they y-intercept.

5Xx—9y =36

20. Write the equation of the line
that passes through the two
points (NO DECIMALS).

ShiH

21. Sketch the line 5y+2x=-15,
Find the equation of the line that
is parallel to this and passes
through the point (-5, 1). Sketch
the graph on the same plane.
Find the equation of the line that
is perpendicular to this and
passes through the point (4, -2).
Sketch the graph on the same
plane

22. Sketch the line x+6y=-30.
Find the equation of the line that
is parallel to this and passes
through the point (12, 3). Sketch
the graph on the same plane.
Find the equation of the line that
is perpendicular to this and
passes through the point (-2, -3).
Sketch the graph on the same
plane.




%Bank (not in order)
=bx+4 = _10x— 7
y y=—10x=5[ 1, _ 1,.260 |y_Lxog [yo3xi 5,
7 7 2 2 y_gx
y=-x-1 7X+5y =5 -
3x+5y=25 — _7x+3 m=—, y—int (0, —4)
1 3

y:_EX_E many possible answers : many possible answers :

x =# and graph a vertical line ||y =# and graph a horizontal line

General form: Ax+ By=C

Slope —int form: y=mx+Db
15
Point— Slope form: y—y, =m(x-x,)
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